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1.0949 0.5578 1.6527 0
= = Al
= 0190 KH (4)C4 1.0856 0.5419 1.6275 0
1.0845 0.4935 1.578 0
= = Al
= 0190 KH (4)Ce 1.0752 0.5306 1.6058 0
0.5828 0.4579 1.0407 0
= EANCO—
A= 0190 XH (F4)C-W 0.5741 0.5133 1.0874 0
0.0024 0.508 0.5104 0
= = Al
=010 X (F4)S 0.002 0.5318 0.5338 0
e A lONTLA f = ANC D 0.0023 0.5343 0.5366 0
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e = g = SESE, EEN
306.333 14,005 311,189 14,238 58.71 232.92
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> 22 32| =4 UHOHEHE =0 (E+91: %)
2017-04-02 ~ 2017-07-01 2017-07-02 ~ 2017-10-01 2017-10-02 ~ 2018-01-01
78.53 69.91 56.71
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